1. WEAKOHR (EFEXR. AL, FH4FERFSNSF1ANBRE, )

H AFEHE BB OB

—HEEA BAGEHT RS

ER/EE| TEE | 26EF EE AEE 54EFE 64EEE THE SR 9O E 104FfE | 14EEE | 124FE | 1356 | 145 | 155K | 165K | 115E
B 342 435 463 433 407 365 322 287 276 265 268 289 327 381 409 395 383
FR/AEE| 185EE | 194K | 20FFE | 214E | 224FfF | 234 | 24508 | 256 | 265FE | 274FE | 284EEE | 204FEE | SOKFEE | SANEE|QHEE| SMEE | SHAEE
B 387 383 395 426 449 451 430 393 359 336 315 285 270 258 252 244 230
2. FHEBOKR (RFEE TR1BHE)
FR/EE| TEE | 286E% RE: i AFE 54 64 THE 84 o 1065 | 14EEE | 124FE | 13K | 144 | I5%FE | 16K | 1758
EEH - — 35576 | 35953 | 33,107 | 205580 | 14,585 | 11,224 | 13,234 | 15,269 | 21,787 | 30,631 | 33,757 | 39,205 | 42,729 | 35,379 | 25860
FR/AEE| 185EE | 1948 | 20F | 2148 | 224F5F | 234%FfE | 245505 | 5% | 264FEE | 274FE | 284EEE | 204K | SOKFEE | SREE|QMEE| SMEE | SHAEE
sS4 | 30607 | 31,663 | 34937 | 42,651 | 43,669 | 33239 | 29,235 | 37918 | 43,667 | 50,847 | 52,278 | 50,892 | 47,230 | 41,600 | 24,253 | 14,580 | 27,609
(FEEDH S E - Hhig B AR)
TRR23ERE FR24EE TR 25EE TRR265EE FRL2TERE TRR28EE
hE 22,40); (67.(4/0)) FE 18,09)5 (61.(9/0)> PE 18,25)(: (48.(1/0)) P 16,11}5 (37.(0/0)) PE 17,65)5 (34.<7%)> P 19,24)5 (36.(8%))
B 3,484 (105)| &BE 2,675 O] NbF L 8,436 (22.3)] RhF L 13,758 (31.5)] NbF L 15,715 (30.9)] RhF L 17,334 (33.2)
NhFLs 1,410 (4.2)] RbF L 2,039 (1.0)] ®R/3—JL 3,095 8.2)| R/3—JL 4779 (10.9)] #/8—JL 6,301 (2.8 w/8—JL 3,973 (7.6)
/it 1,395 42| &E 1,425 (49)] ®=E 2,386 (6.3) #®E 2,081 48| &E& 2,070 @n| &E 1,970 (3.8)
RIS—IL 1,221 &) EVACT]) 1,371 @nl &E 1,425 (38) HBE 1,837 (4.2)] BE 2,041 (40)| &BE 1,763 (3.4)
24 561 anl %4 460 1e)| %4 660 AD|RUZ>H 619 AD|RUZ>H 1,102 @2\ RYS>H 1,536 (2.9)
YUY — 409 1.2|=vr<— 444 ) ot 414 anl %4 580 1.3)|=vov— 1,067 @n|zrr~— 1,390 2.7
ELIIL 253 08)|1or%7 284 SN0 EPLE S 386 1.0|=v><— 520 a2l %4 630 A1k 7 753 (1.4)
AVRRLT 225 0.7 EVIIL 266 09| €I 357 (X)] B S 485 CRD] B S 594 a2 %4 500 (1.0)
AYSHh 193 0.6)|roz—F> 212 OD|RIZ>AH 346 09)] EIIL 407 0.9)] E4IIL 571 an| '3 488 (0.9)
ZDfih 1,680 (5.0)] =Dt 1,966 (6.7)] ZDith 2,163 (6.7 Dt 2,483 (B Fhit 3,101 6.1)] Znith 3,323 (6.3)
&t 33239  (1000)] &t 29,235  (1000)| &t 37,918  (1000)| &t 43667  (1000)] &t 50,847  (1000)] &t 52,278  (100.0)
TRH20FERE TR30EE HHTEE SH2EE SHSEE SHAEE
FE 20,16); (39.(:)) hE 16,92)5 (35.(8%)> E 16,51); (39.(7%)) hE 10,86); (44.(;)) E 7,49% (51.<4/D)> hE 9,94)8 (36.(0/0))
NhF L 14,761 (29.0)] NbF L 14,440 (30.6)] NhFLs 12,897 (31.0)] NhF L 6,897 (28.4)| NbF L 3,557 (24.9)) +/x—L 5,990 (21.7)
RI8—)L 3,372 (6.6)] R/S—JL 3,537 1.5)| R/3—=JL 2,926 (7.0)] ®R78—=JL 1,810 15| #/38—1L 523 (3.8)] NhF L 3,911 (14.2)
AS2Hh 2,146 @2\ RIZ>H 1,976 (42)] && 1,457 35 &E 684 (2.8)|2vV— 303 VAD EX o 940 (3.4)
BiE 1,951 (38)] BE 1,786 (38)| #E 1,214 eX) B S 530 R3] BV S 287 0X0)| ZE S 928 (3.4)
BE 1,696 (33| &8BE 1,545 B3| RYSUH 936 (2.3 &= 511 @ &% 258 18| RUSvH 869 (3.1)
SyUv— 1,343 26)|=vv— 1,257 26)|=v><— 830 0)|=vv— 389 1.8 RUS>H 233 QN B S 569 (2.0)
AURRST 842 (W) EPIE S 835 Q)] B S 799 B Y% 315 (13| ®#E 194 13| &BZ 543 (2.0)
J4VEY 583 12| 74UE> 535 (R) =V 536 (1.3 Z4UE> 307 13| 'aL 183 1.3)] 'TNL 353 (1.3)
24 549 B 72 519 R P20 = 502 a2 'anL 236 (1.0)]5>95Fa 166 an] 44 330 (1.2)
Z D4 3,483 6.9)] Zonih 3,878 (8.2)] Zmith 2,991 12| Zoih 1,707 (7.0 Znih 1,380 (9.4)] Znith 3,236 (11.7)
it 50,892  (100.0) &t 47,230  (100.0) &t 41,600 (100.0)] &t 24,253  (100.0) &t 14580  (1000)] &t 27,609  (100.0)




3. EEEDQAR
K4y Kok oo EKE ET LT b AR 2

A (%) A (%) A (%) A (%) A (%) A (%) A (%)
RO 811 (14.0) 2,943 (50.6) 243 (4.2) 74 (1.3) 1,690 (29.1) 49  (0.8) 5,810 (100.0)
ERRI0EE 971 (13.7) 3,567 (50.4) 283  (4.0) 83 (1.2) 2,129 (30.1) 46  (0.6) 7,079 (235.0)
SERRILEE 1,141 (11.7) 4,536 (46.7) 291 (3.0 84 (0.9 3,594 (37.0) 72 (0.7) 9,718 (100.0)
ERRI2EE 1,218 (9.3) 5,772 (44.1) 553  (4.2) 93  (0.7) 5,379 (41.1) 72 (0.6) 13,087 (100.0)
SERRI3EE 1,162  (7.0) 7,142 (43.4) 617 (3.8) 135  (0.8) 7,161 (43.5) 244  (1.5) 16,461 (100.0)
ERRI4EE 1,191 (6.5) 7,341 (39.8) 607 (3.3) 134 (0.7) 8,904 (48.2) 286  (1.5) 18,463 (100.0)
SERR1G4EE 1,148 (5.8) 7,186 (36.6) 658 (3.3) 152 (0.8) 10,140 (51.6) 365 (1.9 19,649 (100.0)
ERR16EE 1,102 (5.5) 7,105 (34.9) 618 (3.0 204 (1.0 11,165 (54.8) 166  (0.8) 20,360 (100.0)
SERRITEE 844 (7.1) 4,394 (37.1) 285 (2.4 79 (0.7) 6,109 (51.6) 124 (1.1 11,835 (100.0)
ERRISEE 1,131 (7.4) 5,000 (32.8) 276  (1.8) 84 (0.5 8,675 (56.8) 101 (0.7) 15,267 (100.0)
SERR19EE 1,191  (7.2) 6,091 (36.7) 272 (1.6) 78  (0.5) 8,781 (52.9) 179 (1.1 16,592 (100.0)
ERR20EE 1,627  (9.7) 6,236 (37.2) 246  (1.5) 76 (0.5) 8,378 (50.0) 188  (1.1) 16,751 (100.0)
SERR214ERE 2,186 (10.8) 7,803 (38.6) 290 (1.4) 112 (0.6) 9,631 (47.7) 171 0.9) 20,193 (100.0)
ERR22EE 2,661 (12.1) 7,789 (35.4) 272 (1.2) 165  (0.8) 10,884 (49.5) 217 (1.0 21,978 (100.0)
SERR23E R 2,767 (15.7) 6,621 (37.6) 236 (1.3) 52 (0.3) 7,749 (44.0) 198  (1.1) 17,623 (100.0)
ERR24EE 2,748 (18.1) 5,728 (37.6) 133 (0.9) 65 (0.4 6,414 (42.1) 140 (0.9) 15,228 (100.0)
SERR254EE 2,221 (13.7) 5,198 (32.1) 148 (0.9) 71 (0.4) 8,324 (51.5) 217 (1.4) 16,179 (100.0)
ERR26EE 2,237 (10.6) 5,608 (26.4) 196  (0.9) 79  (0.4)] 12,796 (60.3) 292 (1.4) 21,208 (100.0)
SERR2TAERE 2,393 (10.5) 6,402 (28.2) 208  (0.9) 63 (0.3)] 13,305 (58.7) 314 (1.4 22,685 (100.0)
ERR28EE 2,527 (10.9) 6,710 (28.9) 238 (1.0 46  (0.2) 13,255 (57.2) 407 (1.8) 23,183 (100.0)
SERR294E B 2,526 (12.0) 5,997 (28.4) 215  (1.0) 49 (0.2) 12,063 (57.2) 248 (1.2) 21,098 (100.0)
ERRIOEE 2,273 (10.4) 5,780 (26.5) 267 (1.2) 53  (0.2) 13,240 (60.6) 245 (1.1) 21,858 (100.0)
SHTEE 2,216 (11.0) 4,419 (22.0) 241 (1.2) 52 (0.3) 13,007 (64.8) 137 (0.7) 20,072 (100.0)
SF2EE 1,858 (12.1) 3,732 (24.3) 168  (1.1) 69 (0.4) 9,337 (60.8) 192 (1.3) 15,356 (100.0)
SF3EE 1,103 (14.6) 2,399 (31.8) 92 (1.2) 87 (1.2) 3,822 (50.6) 46 (0.6) 7,549 (100.0)




T3 FEEREFENR
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4y K * ik | sswme | SRR AR # ¥R
FE 1,009 1,894 8 0 991 26 3,928 84.8%
AN 11 209 51 0 1,474 3 1,748 84.8%
/8= L 0 40 10 0 292 7 349 94.3%
Iyrv— 4 25 4 1 185 1 220 81.8%
RYZ T 0 12 7 0 168 0 187 93.0%
AL RXTT 23 4 15 106 0 151 61.9%
B 22 40 0 0 60 2 124 47.5%
E 5 24 0 0 64 0 93 55.0%
<=7 3 53 0 0 14 0 70 85.4%
V= Y” 4 7 0 19 39 0 69 65.1%
24 6 5 0 7 46 2 66 46.8%
74V 6 0 2 0 30 0 38 34.9%
TAVH 3 10 0 2 8 1 24 22.4%
Z DAt 27 57 6 43 345 4 482 51.3%
A5t 1,103 2,399 92 87 3,822 46 7,549 77.9%

940

9,695




